
Montážní/Montážny návod/Assembly Instruction/Montageanleitung MATEO Konzole/Konzola 36-139-07-M

20 Min.

1/5

!

Max 
10 kg

Max 
10 kg

Max 
10 kg



2/5

Číslo Ks BalíkyRozměry/Rozmery
1(A) 1 1700 380 45
2(B) 2 1180 380 45
3(C) 2 11060 336 25
4(D) 1 1920 380 50
5(E) 1 1920 380 50
6(F) 1 1700 20 20T14

Fi4x50
x2

Fi6x50

T13
x2

J
x1

4 mm

A

A

C

C

C

D

D

E

E

F

F

B

B

B

J11
x2

x8
M6

I

H

M6x30

x16

G

M6x16

x10

x4
Fi4x16

P13

Montážní/Montážny návod/Assembly Instruction/Montageanleitung MATEO Konzole/Konzola 36-139-07-M



3/5

H

M6x30

x16G

M6x16

x6 D
x1

4 mm

B

B

B

B

C

C

C

C

C

C

F

F

F

D

D

D

D

D

E

G G G

G

G

G

G

H
H

H

H

H
H

D H

H

HH
H

H

H

H
H

H

HH
H

HH

HH

H
I

II
I

I

I G G

G

x4
M6

I

Montážní/Montážny návod/Assembly Instruction/Montageanleitung MATEO Konzole/Konzola 36-139-07-M



4/5

G

M6x16

x4 D
x1

4 mm
x4

M6

I

G

G

G

G

G

G
I

I

I

I

I

IA

B

C

E

E

D

D

C

C

B

B

B
A

A

Montážní/Montážny návod/Assembly Instruction/Montageanleitung MATEO Konzole/Konzola 36-139-07-M



x4
Fi3,5x13

P13

J11
x2

T14

Fi4x50
x2

Fi6x50

T13
x2

!

x2 x2
T13 T14

3,5x13 x4
P13

x2
J11

J11

3
6

4 65

J11

P13J11

T13

T14

1

2

6 4

Montážní/Montážny návod/Assembly Instruction/Montageanleitung MATEO Konzole/Konzola 36-139-07-M 5/5


